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- BEEARILHT HEFHE

SEEALIMT RAEE - LI ¥ -BEHA H=1.2m m 854 | AEEWRL=20mKiFHEESL, Tl (15° FKiF)
SEEALIMT RAEE - R ¥ - B H=1.8m m 1,220 | ABEWL=20mKHEEL, Filh (15° KiF)
SEEALIMT RAEE - R J=A H=1.8m m 1,620 |ABEWL=20mKHEEL, Filh (15° KiF)
SECEADGIEHRT BEEEER - fEE - [HEE FEE ¥ -BEA H=1.2m m 726 | NEEHHL=20mRimEFL, FiHM (15° RiF)
SECEADGIEHRT BEEEER - fEE - [HEE FEE ¥ -FEA H=1.8m m 1,080 | ABEHHL=20mKHEEEL, 1A (15° KiH)
SECEADGIEHRT BEEEER - fEE - [HEE #E A H=1.8m m 1,810 [ABEWL=20mKiHEEL, Filh (15° KiF)
SECEADGIEHRT BEEEER . fE* - [HEE BEE ¥ -FBEA H=1.2m m 726 | NEEHHL=20mRimEFL, FiHM (15° RiF)
SECEADGIEHRT BEEEER - fEE - [HEE BEE ¥ -FEA H=1.8m m 1,080 |ABEWL=20mKiHEEL, Filh (15° KifF)
SECEADGIEHRT BEEEER . fEE - [HEE BEE J=A H=1.8m m 1,810 |ABEWL=20mKiHmEEL, Filh (15° KiF)
EREAILMT EHHFEE ¥ - BH H=1.2m B=1.0m = 3,180 | NEEML=20mREHZEEL, FiEM (15° FRKiF)
EHREALILMT EHHFEE ¥ - BH H=1.2m B=1.5m = 3,180 | NEEHL=20mRFHZEEL, FiEM (15° FKiF)
EREAILMT EHHFEE ¥ - BH H=1.2m B=2 Om = 3,880 |ABEHL=20mREHZEEL, FiEM (15° i)
EHREAILMT EHHPEE ¥ - BH H=1.2m B=2 5m = 4,230 | \EEHL=20mRFHEET, FiEM (15° RKiF)
EHREAILMT EHHPEE ¥ - BH H=1.2m B=3. Om = 4,400 |\EEHL=20mRFHEET, FiEM (15° FRKiF)
EHREAILMT EHHPEE ¥ - BF H=1.2m B=3. 5m = 4,760 | \EEHL=20mRFHEET, FiEM (15° FKiF)
EHREAILMT EHHPEE ¥ - BH H=1.2m B=4. Om = 5,100 |\EEHL=20mRFHZEEL, FiEM (15° FKiF)
EHREAILMT EHHPEE ¥ - BH H=1.2m B=4 5m =3 - | NEEHL=20mREHEET, FiEM (15° RKiF)
EHREAILMT EHHPEE ¥ - BH H=1.2m B=5.0m =3 - | NEEHL=20mREHEET, FiEM (15° RKiF)
EHREALILMT EHHFEE ¥ - BF H=1.8m B=1.0m = 3,880 | ABEHL=20mRFHZEEL, FiEM (15° i)
EHREALILMT EHHFEE ¥ - BEF H=1.8m B=1.5m = 3,900 |\EEHL=20mRFHEEL, FiEM (15° FKiF)
EHREALILMT EHHFEE ¥ - BEF H=1.8m B=2 Om = 5,120 |\EEHL=20mRFHZEEL, FiEH (15° RiF)
EHREAILMT EHHPEE ¥ - BEF H=1.8m B=2 5m = 5470 | \EEHL=20mRFHZEEL, FiEM (15° KiF)
EHREAILMT EHHPEE ¥ - BF H=1.8m B=3. Om = 5810 |\EEHL=20mRFHZEEL, FiEM (15° FKiF)
EHREAILMT EHHPEE ¥ - BEF H=1.8m B=3. 5m = 6,340 |ATBERRI=20mKFHEESL, FiBHr (15° KiF)
EHREAILMT EHHPEE ¥ - BF H=1.8m B=4. 0m = 7,030 |ATBEHRL=20mKFHEESL, FiBH (15° KiF)
EHREAILMT EHHPEE ¥ - BEF H=1.8m B=4. 5m =3 - | NEEHL=20mREHEET, FiEM (15° RKiF)
EHREAILMT EHHPEE ¥ - BEF H=1.8m B=b.0m =3 - | NEEHL=20mREHEET, FiEM (15° RKiF)
EHREAILMT EHHPEE J=F H=1.8m B=1.0m = 10,600 |AEE#RL=20mKFHEEL, Tl (15° KiF)
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EHREALILMT EHHFEE J=F H=1.8m B=1.5m = 10,900 |ABEHL=20mKFEEEL, Tl (15° KiF)
EREAILMT EHHFEE J=F H=1.8m B=2.0m = 20,500 |\EEHL=20mRFHZEEL, FiEM (15° RKi)
EHREAILMT EHHPEE J=F H=1.8m B=2.5m = 21,700 | \EEHHL=20mREHZEET, FiEM (16° RKiF)
EHREAILMT EHHPEE J=F H=1.8m B=3.0m = 23,100 |\BEEHWL=20mRiHZEET, FiEM (16° RKiF)
EHREAILMT EHHPEE J=F H=1.8m B=3.5m = 24,800 |\EEWL=20mRHEET, FiEM (15° RKiF)
EHREAILMT EHHPEE J=F H=1.8m B=4.0m = 26,700 |\EEHL=20mREHZEEL, FiEM (15° RKi)
EHREAILMT EHHPEE J=F H=1.8m B=4.5m =3 - | NEEHL=20mREHEET, FiEM (15° RKiF)
EHREARILMT EHPEE J=F H=1.8m B=5.0m =3 - | NEEHL=20mREHEET, FiEH (15° RKiF)
SECEADGIEMT X i - B H=1.2m b3 1,470 | ABEWL=20mKHEEL, Filh (15° KiF)
SECEADGIEMT X i - A H=1.8m B T 7,580 |ATBEHRL=20mKFHEESL, FiBHr (15° KiF)
SECEADGIEMT X i =F H=1.8m b3 7,580 |ATBEHRL=20mKFHEESL, FiBHr (15° KiF)
SECEADGIEMRT EikE =A E-S - | NEEWHL=20mREHEET, FiEM (15° RKiF)
SEEALGIEMT sRIEPIREE ¥ - BH H=1.2m B=4 5m = 65,500 |A\BEEHL=20mRiHEEL, FiEM (15° Ki)
EEEALGIEMT sREFIREE ¥ - BH H=1.2m B=b.0m = 75,900 |A\EEHL=20mREHEEL, FiEM (15° RKi)
SEEALGIEMT sRIEPIREE ¥ - BEF H=1.8m B=4. 5m = 98,300 |\EEHL=20mRiEHEEL, FiEM (15° RiF)
SEEALGIEMT sRIEPIREE ¥ - BEF H=1.8m B=b.0m = 101,000 |ABEML=20mRFHZEEL, T (15° RKiF)
SEEALGIEMT sRIEPIREE J=F H=1.8m B=4.5m =3 101,000 |AEEML=20mRFHZEEL, T (15° RKiF)
SECEARGIEMMT SREPTRIEE J=F H=1.8m B=5.0m =3 105,000 |AEEML=20mRFHZEEL, FiBEM (15° KiF)




